HIGHLY REPUTED MANUFACTURER OF HYDRAULIC VALVE
/ HYDRAULICS]|

SOLENOID CONTROLLED PILOT
OPERATED DIRECTIONAL VALVE DGO7 SIZE I6

FEATURES :
Highest performance in NG 16

Optimized spool design fo reduce flow force
Proven quality through 10 million endurance test
Manual overrides standard

P port pilot pressure insert for open center spools
Connections to DIN, ISO and CETOP

SPECIFICATION :

Maximum Flow Rate

Maximum Operating Pressure
Maximum Permissible Back Pressure
Pilot Pressure

Ambient Temperature Range
Hydraulic Fluid Temperature
Viscosity Range

Hydraulic Ol

Fluid Cleanliness

Maximum Change over Frequency
Mounting Pattem

Approx. Weight (Valve with hydraulic operation)

Metric
Valve Fixing Screws
Inch

Tightening Torque

CRQOSS SECTION DIAGRAM:

DGO7-E1-2C-T-A*-DN-82 DGO7-E1-2A-A*-DN-82

il [y

=

052

Model: DG0O7

300 L/Min (79 GPM)
320 Bar (4500 PSl)
160 Bar (2285 PSI)

12~250 bar
-15°C~+50°C
-15°C~+70°C
15~400 mm?/S
ISO VG32, 46, 68
25 um
120 Times/Min
ISO 4401-AD-07-4-A
7.2 kg

Mé x 55L (2 pcs)
M10 x 50L (4pcs)

1/4'~20UNCx2-1/4"L (2pCs)
3/8"~16UNCxX2"L (4pcs)

12~15 Nm(M6) / 58~72 Nm(M10)

GRAPHIC SYMBOL:
DGO7-E-*C-T-*-*-*

SOLENOID CONTROLLED PILOT
OPERATED DIRECTIONAL VALVE DGO7 SIZE I6

ORDERING CODE :
D GO7-E1-2 C-E T-A11T0-DN- 82 —**
A EE &

DIRECTIONAL CONTROL VALVE B INTERNAL PILOT DRAIN
MANIFOLD OR SUBPLATE MOUNTING No code: External Drain
NOMINAL VALVE SIZE: T+ Internal Brain

NG 16, CETOP 7 and ISO 4401-07 (NFPA-DQO7/DIN 24340) Bl ELECTRIC POWER SOURCE INDICATION
OPERATOR A110: AC100V, 50/60 Hz; AC110V, 60 Hz
. : . ) AT20: ACT10V, 50 Hz; AC120V, 60 Hz
No code: Hydraulic (pilot) operation
A220: AC200V, 50/60 Hz; AC220V, 60 Hz
A240: AC220V, 50 Hz; AC240V, 60 Hz

E1: DSV/DSD electro-hydraulic operation
E2: DG electro-hydraulic operation

DC12: DC12V
B TYPE OF SPOOL (CENTER CONDITION) DC24: DC24V
R110: AC110V, 60 Hz; Rectifier built-in type

0 1 2 3 5 6 R220: AC220V, 60 Hz; Recifier built-in type
AB|AB|AB|AB|AB|AB
B E R ELECTRICAL OPTIONS:

7 8 11 292 31 33 DN: DIN 43650 Coils with indicator lights
ﬁEj AE]B B AR /E{ﬁ DNO: DIN 43650 Coils without indicator lights
s T le TPt *‘J—T:‘r P T |pT WB: Wiring housing with G1/2 thread and indicator lights

0: Open center (All ports) 7: Open center (P 10 A, B) DESIGN NUMBER

1: Open center (P, At T) 8: Tandem center (P fo 1) 82

2: Closed center (All ports) 11: Open center (P, B1o T) OPTIONAL INQUIRY

3: Closed center (P, B) 22: Closed center (Two way) P: P Check

5: Closed center (T, B) 31: Closed center (P, A) SA: Stroke Adjustment on A Port
6: Closed center (P only) 33 Closed center (Bleed A,B) SB: Stroke Adjustment on B Port

SW: Stroke Adjustment on Both A & B Port

B SPRING CRACKING PRESSUE

A : Spring offset

AL: Same with A

B : Spring centered-single solenoid "A” removed

BL : Same with B

C : Spring centered

N : Without spring with detent (pilot only)

EXTERNAL PILOT PRESSURE

No code: Internal Pilot
E: External Pilot

053



HIGHLY REPUTED MANUFACTURER OF HYDRAULIC VALVE
/ HYDRAULICS]|

SOLENOID CONTROLLED PILOT SOLENOID CONTROLLED PILOT

OPERATED DIRECTIONAL VALVE DGO7 SIZE€ Ie OPERATED DIRECTIONAL VALVE DGO7 SIZ€ I6e
SPOOL TYPES: SPOOL TYPES:
Position tvoe Double solenoid valves, Single solenoid valves, Single solenoid valves, Position type Double solenoid valves, Single solenoid valves, Single solenoid valves,
yp spring centered solenoid at port Aend solenoid at port B end - o spring centered solenoid at port Aend solenoid at port B end
at neutral during transition
-C- -B- -BL- -N- -A- -AL-
DG07-0C DG07-0B DGO07-0BL DGO07-0A DGO07-0AL
0 (H) a "AB_ b "AB AB 0 H) H a "AB AB. b
pDCHH AT T4 atze X HHW WH HI TS L1 X H I MCHIT IS
;:‘ PT LJ;:| L PT PT L L PT PT L
DG07-1C DG07-1B DGO07-1BL DGO07-2N DGO07-2A DGO07-2AL
1) T a AB_ b AB AB_ ’ 1LY a AB. b a _AB AB_ b
[] %E‘JE% aﬁi AW MH‘JEﬁb (E) UL %ﬂX[TJE:% %E ‘TJHM N\’{X}j‘ J&
PT N N PT PT L PT U i T P T i
DG07-2C DG07-2B DG07-2BL DGO07-6A DGO07-6AL
2(6) |- a iR b AR B 1y a, -AB AB b
T gﬂi% < alb! EETM ME?TL < 6t Tl %zXIHQ]TM MLXITHEJ&
L L (R L L
DGO07-3C DGO07-3B DGO07-3BL DGO07-7A DGO07-7AL
T a AB. b AB AB 7 M) F a AB AB_ b
30 |1 XN AHT alZB X, WHIHI 5o T X WX HIT TS
PT N N P T P T N N PT P T N
DG07-5C DG07-5B DGO07-5BL 1 DGO7-2AZPé AD%O?-ZZALb
I a AAB b A B AB 22 (A) T 3, L
° T b SN alze X5 LT Wz 3 e )i v HARIE UVARIESS
PT U L PT PT L Lo PT PT
DG07-6C DG07-6B DGO07-6BL *() . Rexroth Model
6] ] a AB b AB AB
T e XN g i SN WH [T TS0
P T L L P T P T L
DG07-7C DG07-7B DG07-7BL
“AB_ AB AB_
7 (M) JT aﬂ%gﬁﬂg a L T H WHETT TS (Machined valve mounting face with poisition of ports)
PT L PT PT . DGO7-E*-*-*.%.82-P Mounting Surface: 1SO 4401-AD-07-4-A
DG07-8C DG07-8B DGO07-8BL
II a 7%7 b _AB AB_ T b 2-@4x8 Deep 2-MAX.26
8(C) [1 ﬁEH%HIX% aﬁime @Hxﬁb i ﬁ 2-M6x17 Deep \ / 4-M10x19 Deep
[HE] [HE] (M| - - —_ 92
DG07-11C DGO7-11B DGO7-11BL 1. Seat e 4-MAX.017.5 @ A= 5
— N 829
'I'l (P) 1 a i*A Bi* b L’A B A Bi7 2. PoppeT 2 0 \'J . W X7l 63'6
& XTI Xl W TS e ) A : LT —
P T ., L PT PT 3. Spring Retainer f = L 4
. ” Iy ! i 27.3
DGO7-31C DG07-31B DGO7-31BL 4. Spiing A 1 LD b—@ S 257
L a & Bi— b el & By 5. C-refaining i ‘ I O — 13
1= | g |l . g rng 1 \\w O O —
SIS X TS alZB X H i [ ML [ TS | & S
PT N N P T P T i ‘ P \@ } ! T ! |
DGO07-33C DGO07-33B DGO7-33BL S8 J8BEESE B
33 (W ok a 1'63(8{ b AV 1A> )(B A<B 1 o
w 1 AR T ST F W AT
L L L oo |

*() : Rexroth Model

Rmax 4

/

Required surface finish of
mating piece

054 055



HIGHLY REPUTED MANUFACTURER OF HYDRAULIC VALVE
/ HYDRAULICS]|

SOLENOID CONTROLLED PILOT SOLENOID CONTROLLED PILOT

OPERATED DIRECTIONAL VALVE DGO7 SlZe |6 OPERATED DIRECTIONAL VALVE DGO7 SIZeE€ 16
PERFORMANCE FIGURES & CURVES: PBRAUEE CONRICERATION:
i ) ) ) DGO7-E-2A-T-*-*-* DGO7-E-2AL-T-*-*-* DGO7-E-*C-T-*-*-*
Pressure Drop Curve Reference Chart Viscosity of Hydraulic Fluid: 41 mm?/s (*A) (*AL)
Pressure Drop Characteristics A B Al |B A| (B
spoolliype P—A P—B AT BT P—T . N - .
IT IT
oC a-b a-b a-b a-b a-b r*‘[X::II: _L L_ :II:ID‘*_L r _L
1C ab ab ab ab ab N | N | P |
2C 1 1 2 3 _ | jus J I | —_ —[ I I - } —:|—[ |
3¢ ab ab ab ab ab * AXir T ISk a XHITTI
6C a-b a-b a-b a-b a-b I — ) S — I I ——
C b b = b b P x' Ty T P x' Ty T 3 x' Ty T
8¢ 4 S ! 8 6 DGQO7-E-2B-T-*-*-* DGO7-E-2BL-T-*-*-* DGO7-E-2N-T-*-*-*
11C a-b a-b a-b a-b a-b [*B] [*BL] [*N]
31C a-b a-b a-b a-b a-b A B A B AL B
33C a-b a-b a-b a-b a-b - 11 - - - - -
0A a-b a-b a-b a-b a-b | FMXIHM_L | FMHM_L r»-IXIEI ml

27 1 1 2 3 - . | [ J I P |
|t ) || | e
a b M
DGO7-2C-*-%-82 DGO7-8C-*-*-82 Hw HITE . X i
Y

/

P

-

” . 200, " ® {200} pr x'Ty Ty Pl Xy I P T X I
. / {71y 5 " // %“7” DIMENSIONS:
T 10 //,@ {143} = 10 / /// {143}
\é 8 // @ (114} \é 8 /// {114} DGO7-E1- *A-A*-DN-82 GD\ _E
g A// 57.1) g /A / (57.1} [ = %
& 7 ~ - y 4 ' [
5 A// 28.5) 2 ’ A {28.5) H

O 50 100 150 200 250 300 O 50 100 150 200 250 300 i ﬂ\
{13.2}{26.4}{39.7} {53} {66.1}{79.3} {13.2}{26.4}{39.7} {53} {66.1}{79.3}
Flow (I/min){gpm} —— Flow (/min){gpm} —— - (T AL LH -
E 27 i i B
All other spools ] 77 104.5
2345
14 {200}
= 12 5 / (71} DGO7-E1- *AL-A*-DN-82 4 o
2 * k% *BL ? — =
5 10 / {143} All other spool types DGO7-E-*-*-*-82- E /ga
% / - falinthisarea ) } }
g 8 / {114} I E soLb | ] e .
S s % /a/ {85.7) — [ H <> )
& - = B —
2 4 // // (57.1) T
2 A/ 28.5 ‘ /‘E E oTO
P {28.5}
_// g
O 50 100 150 200 250 300 \E ( w E gl @
{13.2}{26.4}{39.7} {53} {66.1}{79.3} A "
Flow (I/min){gpm} —— »4#27 ; @ |
MAX.24 61 77 104.5 ' @3 H
234.5 90 R

056 057



HIGHLY REPUTED MANUFACTURER OF HYDRAULIC VALVE
/ HYDRAULICS]|

SOLENOID CONTROLLED PILOT
OPERATED DIRECTIONAL VALVE DGO7 SIZE I6

DIMENSIONS:
DGO7-E1-*C-A*-DN-82

o1 18 Main valve Cover
@\ 34.1 6.8 a1 /i
P_~~4 1
= & . - ' e
D T@ : A PT1/16"
= o = 3
A B Y °

OreF1o——:

101.6

ffri

%riuu
Ve
Qe

43
33

il

e,
>
ch

SEC.A-A
Pilot oil drain (plug: M6x8L)
External: 11 plugged

Internal: 11 open

SEC. B-B
Pilot oil drain (plug: M6x8L)
External: 12 plugged

Internal: 12 open

15

77 104.5

96

209

1: Main valve
2: Pilot valve
2-1: Pilot valve DSV/DSD-G02-2A-* (1 solenoid) for main
valves with spools *A, *B (3 position valve with
solenoid on side Q)

2-2; Pilot valve DSV/DSD-G02-2AL-* (1 solenoid) for
main valves with spools *AL, *BL (3 position valve
with solenoid on side b)

2-3: Pilot valve DSV/DSD-G02-6C-* (2 solenoid) for main
valves with 3 positions

058

. Solenoid a

: Solenoid b

. Push pin for manual operation

. Nameplate for pilot valve

. Nameplate for whole valve

: O-1ing:

Ports A,B,P,T: AS568-118 (NBR,Hs90);
Ports X,Y: AS568-013 (NBR,Hs90)

9: Space required to remove plug
10: Locating pin

@ N OO W

SOLENOID CONTROLLED PILOT
OPERATED DIRECTIONAL VALVE DGO7 SIZE I6

SUBPLATE DIMENSIONS:

Bottom Connection

DGSP-07*-* 160 o
10 140 S
3
9.2 101.6 =3
Q N
76.6 Z | &
: |2
50 @ g
lw]
34.1 g .
8.3 | 8
s 5 L3
| ey &~ V/{} N
AZNEN Q/i%
g3 /8lal2 T e 2
ooV | lele / o |8
DD o
AN hd $\@
+ 65.9
S
N
,(\ln 88.1 _';‘!
@
a
2
3
]
q
A : N
(N (N
@15
| | N\
% ‘ ) o ] ‘
¢ = N
i ﬁ\@m* AR
o
w 9.5
36.2
IN D
48.2 & 2
s
79.2 3 v
3 °
@ 3
91.2 = 3
@ o
Mo @
113.2 : -
124.7
Model (© D E F Weight
DGSP-07-12 3/4" Rc 1/4" Rc 2.8 kgs
DGSP-07-16 M10 x 19 Deep M6 x 14 Deep 1"Rc 1/4" Rc 2.8 kgs
DGSP-07G-12 (Min) (Min) 3/4" BSP 1/4" BSP 2.8 kgs
DGSP-07G-16 1" BSP 1/4" BSP 2.8 kgs
DGSP-07N-12 3/4" NPT 1/4" NPT 2.8 kgs
DGSP-07N-16 3/8"-16UNC-2B 1/4"-20UNC-2B 1" NPT 1/4" NPT 2.8 kgs
DGSP-075-12 Thd. x 3/4" Deep Thd. x 9/16" Deep 3/4" SAE 1/4" SAE 2.8 kgs
DGSP-07S-16 1" SAE 1/4" SAE 2.8 kgs

059




HIGHLY REPUTED MANUFACTURER OF HYDRAULIC VALVE
/ HYDRAULICS]|

SOLENOID CONTROLLED PILOT
OPERATED DIRECTIONAL VALVE DGO7 SIZE I6

SUBPLATE DIMENSIONS:

Side Connection

N
DGSP-07*-*E =
76.6 3 .
o
50 2 g
g oo
g 34.1 g §
S 183 g |°
[$)]
f@/ AW\
A P . \*%
%Y I AV
N o @ he 3 3
& |8 [ n M 8 g |8 |B
© t > © < ~ 2 g >
& w
0D, 0%
SEN /9
8.3
N
5
34.1 3
a
50 2
65.9 S
= 2]
88.1 Qe
[}
3
30 101.6 3
=}
160 g
184 3
m
: 122
87
@15
e - > ® < 43 |
TICIIR) g -
AL 3 3 y( i
\\L | \ B \ | | |
T (EHC © . il
"‘ 5 ! ° @@ )
— — T T
[e<]
@9.5
55
99
134.5
Model C D E B Weight
DGSP-07-12E 3/4" Rc 1/4" Rc 3.8 kgs
DGSP-07-16E M10x 19 Deep M6 x 14 Deep 1"Re 1/4" Re 3.8 kgs
DGSP-07G-12E (Min) (Min) 3/4" BSP 1/4" BSP 3.8 kgs
DGSP-07G-16E 1" BSP 1/4" BSP 3.8 kgs
DGSP-07N-12E 3/4" NPT 1/4" NPT 3.8 kgs
DGSP-07N-16E 3/8"-16UNC-2B 1/4"-20UNC-2B 1" NPT 1/4" NPT 3.8 kgs
DGSP-075-12E Thd. x 3/4" Deep Thd. x 9/16" Deep 3/4" SAE 1/4" SAE 3.8 kgs
DGSP-07S-16E 1" SAE 1/4" SAE 3.8 kgs

060

8l

4o SUONOBUUOD SpOd J0lId-Z

SOLENOID CONTROLLED PILOT
OPERATED DIRECTIONAL VALVE DGO7 SIZE I6

CROSS SECTION DRAWING

DGO7-E1-2C-T-A No. | Parts Name
1 Body
2 Spool
3 Cover
4 Spring
5 Washer
6 Screw
7 ORing
8 ORing
9 ORing
Parts No. Parts Name Specification Port Qty

7 O Ring G35 N9O

8 O Ring AS568-03 N0 XY

9 O Ring AS568-T8 N9O A.BPT 4

061






